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SIHAS 20244
Ol &t Xt 0 20l
A= - HEHEX™IIS

OPN=EDNE= (Sr9:&=e1)
= & A & X = A =

g s AQlof | MASolol =z 2 g =2 &Y | HASKENH =,

= 3 2,459,670 o| 24596708 3 2,459,670 0 2,459,670
3o 2 0 0 NEEREREL] 1,310,000 0 1,310,000
2 = 2 0 0 0|8 Xt & A b 0 0 0
PV = 0 0 ojer = 2 o bl 0 0 0
Eollnma ) 0 0 0[7 = 7 o 0 0 0
fEzdaal= 0 0 0] ol & = 0 0 0
ol X 2 3« 2,445,000 o| 2000 x 2 1,149,670 0 1,149,670
o o = 0 0 Olnezaczus 0 0 0
o X % ¢ 14,670 0 14,670 i+222248 0 0 0
o B & 9 0 0 oj21 & X = 0 0 0
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SIHAS 20244
Ol &t Xt 0 20l
A= - HEHEX™IIS

® 22/7=l (el ze)
AF. 3. 2 A O|OH @E‘E = 2} = (2]
otl-% = TeE _J'K_OIOH S B &ELH_I
200 Mol 14,670 0 14,670
210 FAEAI2 14,670 0 14,670
216 OlXt==¢ 14,670 0 14,670
216-01 S30WS30IX=+=& 14,670 0 14,670
O3303 Okt
14,670,000 = 14,670
700 EMUSHUE I H 2,445,000 0 2,445,000
710 2823 2,445,000 0 2,445,000
714 OIxIZal= 2,445,000 0 2,445,000
714-01 OIXIZ3l = 2,445,000 0 2,445,000
OUXI= 2=
2,445,000,000& = 2,445,000
= & & A 2,459,670 0 2,459,670




ST ¢ 2024
Oll&bXb 0 20
2AHF=E - FEgdlls
® XEA=E (el &)
R .22 BB O - AISAY - BAS sy | S9= | ypsa
X =
QI Xt 2,459,670 0 2,459,670
2ot 2,459,670 0 2,459,670
FEHMT|A 1,310,000 0 1,310,000
FEEXN) |2 ESA(FEHLAI ) 1,310,000 0 1,310,000
Y - AERE =Yl K& 100,000 0 100,000
301 LEEASF 100,000 0 100,000
03 ArS|2&X 462 (K2 HS) 100,000 100,000 0 100,000
OFEMERE =dl X& 1,000,000&*1009% = 100,000
= HYA Level Up 30,000 0 30,000
307 QIHoIA 30,000 0 30,000
02 SIZHFAAHEER 30,000 30,000 0 30,000
O&= HY Level Up » 302 10,000,000&*3M L = 30,000
HEAUESRD 243AIY 30,000 0 30,000
307 QIHoIA 30,000 0 30,000
02 SIZHFAAHEER 30,000 30,000 0 30,000
OEEUHESRD S43IAIY * 14 30,000,000& = 30,000
FUEddy =4 1,150,000 0 1,150,000
401 AlEHIZL 048I 1,150,000 0 1,150,000
01 Al&Hl 1,150,000 1,150,000 0 1,150,000
OFHSEME EXI0HHI = 1,150,000
THRES (LI R D) 1,149,670 0 1,149,670
SANE(FELA)|Z2)(HEHLADZ) 1,149,670 0 1,149,670
HEALMIIZ X3 1,149,670 0 1,149,670
602 OllXI= 1,149,670 0 1,149,670
01 LBHOIXIZ 1,149,670 1,149,670 0 1,149,670
OyELEIIZ GIXl = 1,149,670
os g A 2,459,670 0 2,459,670
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SIHAS 20244
Ol &t Xt 0 20l

SIHFRE ¢ HEAYXI|S (S S
x o o
[=Z] -

e mo2 | Bx2 | no= f’gfff;) 022 | oIk | JIERR)
2018 JHA| 0 0 0 0 0 0 0
2019 = 0 0 0 0 0 0 0
20208 &= 0 0 0 0 0 0 0
20218 = 0 0 0 0 0 0 0
20228 &= 0 0 0 0 0 0 0
20238 &= 2,515,000 2,500,000 0 0 0 0 15,000
20243 &= 14,670 0 0 0 0 0 14,670
Al 2,529,670 2,500,000 0 0 0 0 29,670
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SIHAS 20244
Ol &t Xt 0 20l

A= - HHEXIIS
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02t
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40
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m ol
9 xE HIS X+ olztea | XHUSH @-®
S 2 o=l | 2l2as
20184 Al 0 0 0 0
20198 &= 0 0 0 0
202049 0 0 0 0
20219 0 0 0 0
202249 0 0 0 0
20239 70,000 70,000 0 0] 2,445,000
20248 = 1,310,000 1,310,000 0 21,295,330
Al 1,380,000 1,380,000 0 1,149,670




4. OiXlz & GIS= SAl

SIHSHT  2024H
Ol &t X 0 20l &
SAPE - MEASHI|IS

GIXl & GilEreH
7= OIXI(E6) A
2022\H = 2 S XH A 2028 =2EHM@® | 20243 =LHIHA® 52(0-®)
Bl 0 2,445,000 1,149,670 1,295,330
GIbNES, 2| 0 2,445,000 1,149,670 A 1,295,330
NHsE 0 2,445,000 1,149,670 A~ 1,295,330
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